Subject: Font Encoding Problem
Posted by davidf on Fri, 18 Aug 2000 07:00:00 GMT

View Forum Message <> Reply to Message

Hi Folks,

I'm trying to figure out how to produce not a percent sign (0/0),

but a perthousand sign (o/00) in IDL. | can find the character

on my computer. It has a Unicode of 2030 in the Times New Roman
true-type font I have on my computer.

Any ideas on how | can convert this into something | can display
on an IDL plot? What is the Unicode, anyway!?

Thanks,
David

David Fanning, Ph.D.

Fanning Software Consulting

Phone: 970-221-0438 E-Mail: davidf@dfanning.com

Coyote's Guide to IDL Programming: http://www.dfanning.com/
Toll-Free IDL Book Orders: 1-888-461-0155
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